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72 

 Before the start of secondary two At the start of secondary two 

Physical 
appearance 

Below average in height but average 
in weight. 

Grew twelve centimetres, put on 
seven kilograms, shoe size grew 
two sizes bigger. 

Feeling Unconcerned Awkward 
 

 

73. glared at them 

74 

Statement True / False Reason 

a) The narrator was proud of his 
rapid physical growth when he as 
in secondary two. 

False His self-confidence lagged 
behind although he grew taller as 
his feet refused to coordinate 
with the rest of the body. 
 

b) The narrator’s growth spurt 
was first met with disbelief by his 
physical education teacher. 

True His physical education teacher 
remeasured his height several 
times before accepting and 
recording the result. 
 

c) The decision to dance in socks 
was mainly made to prevent 
injuries caused by the narrator’s 
clumsiness. 

True After four dances, his partner 
limped away due to the 
narrator’s big shoes and 
clumsiness. 
 

 

75 

Words from the passage What the word(s) refer(s) to 

their (line15) The narrator’s feet 
 

the others (line 27) The previous girls who had been the 
narrator’s dance partners. 

 
 
76. It would be impractical to skip school because he had no reason. 
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77. 

(a) She asked everyone to dance in socks so the girls would not get hurt by the narrator. 

(b) Gave him a wink and thumbs-up to encourage him. 

 

78. Partners were chosen, not assigned. Fear of not being chosen. 

79. To warn her that he could not dance well as he lacks confidence in his dance abilities. 

80. 

(a) surprised 

(b) The incident at the School Dance Bash where narrator is unexpectedly chosen by a girl as her 
dance partner can be seen as a surprising positive experience that made him reflect on 
secondary two as one of the best years.  
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